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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Illustrate your answers with suitable sketches and diagrams, wherever considered necessary.
Coloured pencils may be used for the purpose.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Q1.

(a)

(b)

(c)

(d)

@ us A
SECTION A

2 sadE SR Ao B i A sregEE A i B Gae 3
HIfT |

Discuss in brief the role of ultrasound in the investigation of pain in
right hypochondrium.

sl Tl & BHIhIAThT Td FH-BHBIATTRA IUGR 6 ERE
TEd I |

Outline the pharmacological and non-pharmacological treatment of
depressive disorders.

Th 30 g hl T W I Ja9d H IH o4 & 30 fe ¥ ofiw

IETAYT, &7 TfATH a1 U % S0 91U S § |

(i) waites gurfad figm @« R 2 39 39 feM &1 =1 n9r 2, Seoifad
I o 38 worar i fIeha-sii-fshan @& & sy |

(i) 39 BT o YU T 9UH iU |

A neonate born at 30 weeks of gestation is found to have tachypnea,
chest retractions and grunt within 30 minutes of birth.

(i) What is the most likely diagnosis ? Mention the basis of your
diagnosis and state briefly the pathophysiology of the condition.

10

10

(ii) Describe the management of this condition. 5+5=10

SrAtfehear MAE. F U wh 6u® ® Y w HEE wwEar (Fea

HEAITHE) 3R g (FAfe) B | 38 Ihadiyg T8 8 |

(i) waits d9Ifad gg-amfeshia far ®H-a1 § 2 geafehim g &0 W
THH FAT THHIAT et 3 3ueh |1y -1 Thiifaeh! giadd &t 2

(ii) fofau fo 8 o 1 Wremefores s F BN 3R SE@ Hefua Sfeerand
- Ht & Hehell 7 |

A 6-month-old infant attending paediatrics OPD is found to have central

cyanosis, clubbing and no hepatomegaly.

(i) What is the most likely cardiovascular condition ? State its
cardiovascular  examination findings and accompanying

haemodynamic changes.

(ii) Write about the clinical course and complications related to this

condition. 5+5=10
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() U foheTill HEm YT U+ 1 Witk T@elt 8 | 3G I, herrgdl qor e
! = T FHvgRH fUfeh-sTeremlie 3w 3T § |

(i) wwrfaa fgm @ g 2

(i) TTHEH i gfte & foe e R wol ames St sy w91, 36 T
FATsT |

(i) = uftorm =1 3reffaofe smma 8 fesrent 2

(iv) 38 9 ¥ 8 arefl Jfeeraret & ) # sy |

An adolescent girl fond of wearing artificial jewellery presented with
itchy, papulo-vesicular skin lesions on the ears, wrists and neck.

(1) What is the likely diagnosis ?

(i) Name the gold standard test which you would use for the

confirmation of diagnosis.
(iii) How would you interpret the test results ?

(iv) State the complications of this test. 2+2+3+3=10

Q2. (a) U 60T ToY @ uyHg # STqeIelA fawm § wgean R | 3@ 9w % wew
WU H TEEH VHT O <2 391 ¢ b wel sHeh Bt offg W R o wg @@
fasm o o oft & 78 & @ |

(i) waifaes gfaa frgm = 2 2
(i) WM 7 Tga & foru oma g Toft ot e it =41 2
(iii) 38 Tl % vagq 3q fafia suml i sw@n wqa Fifw |

A sixty-year-old diabetic male presented to the emergency department
with acute onset, central squeezing type of chest pain, which is severe in

intensity and not relieving even after taking rest.
(i)  What is the most probable diagnosis ?
(ii) How will you investigate the case to reach the diagnosis ?

(iii) Outline the steps in the management of the case. 2+44+14=20
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b) TH 129 1 g 8 ©@ 3men y& @ °§ foems @ w0 oon i fR
aTfEeht B % 5 T8 ft gU &, IHh! AFEIE 72 cm B, I99 5 kg &, HEA-HS
B 10 cm B 3R 3HHT TeTEcah IET HT A & T 7 |
() i@ = 2 2 T it mfitar & nuR W 39 Iy i w0 srEEn w3

form ooft & W ?

(ii) 39 U7 FTEAT Y FI-FAT FAfeAdE Haferd &, Iv= AR |
(i) W%@ﬁﬁamﬁwmaﬁﬁﬁq |
A 12-month-old infant with history of delayed initiation of
complementary feeding and few diarrhoeal episodes was found to have

length of 72 cm, weight of 5 kg, mid arm circumference of 10 cm and loss

of subcutaneous fat.

(i) - State the diagnosis. Under what severity of condition would you

place this infant ?
(ii) Enumerate the complications associated with the condition.

(ii1) Describe the steps and phases of treatment. 4+5+6=15

© () Thefiw i mEm= yegfadi & a) § fafaw |
(i) T A997d H, T 299 ¥ B a1 H, Tsh 99&h § qYT Teh T¥adt Sif
T Thelte o JEEA I qUH T |
(i) Tperarent fufrear feu S % uverq Hvg & FREX &9 @ & w0
HRUT Bl Tohd 8, fafa |

(i) Write the atypical presentations of scabies.

(i) Describe the management of scabies in a neonate, in a child less

than 2 years of age, an adult and a pregnant female.

(ili) State the causes which can lead to persistent itching following the

administration of scabicide therapy. 5+5+5=15
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Q3. (a) UH 40-a9Tg Y& Wl ALY % F(CAWT &% HROT farrd q 718 | T=AWE 1,
35T TS & g Feld ol |

(i) aifies Gwifed fem = 8 ?

(ii) 39 W hi SAT= AT HH H ?

(iii) 39 WH 1 JGG 3T HH BT ?

A 40-year-old male who was bedridden for the last two months following
a fracture in the lower limb developed sudden breathlessness.

(i) What is the most probable diagnosis ?

(ii) How will you investigate the case ?

(iii) How will you manage the case ? 2+8+10=20

(b) UH ‘A Afea wh it it Arar & o B gl srafy WS Fasa H gdfer
3N derdl T i e B, qaSd At U W@ g 3N 39 Sfied & 209 5§
3T1&Y B3 2 |

() TG d99d H UATEI0h ATUR 9 3T HHAAT hl digdl 1 Hd TTehei
H4r 2

(i) fer q wgeR & foru F-wF = ger S s @, 3 e |

(iii) 39 AGd & Y§€H I U HIfT |

A term neonate born to ‘O’ negative blood group mother was found to
have deep jaundice involving palms and soles, excessive crying and

convulsions at 20 hours of life.

(i) How would you assess the clinical severity of jaundice in this

neonate ?
(i) List the key investigations to arrive at the diagnosis.

(iii) Describe the management of this neonate.
3+4+8=15
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Q4.

(c)

(a)

(b)

() ¥R & FAfafaa woH § gaa Sars F el F R § TEEd
A -
o @I H
o PREes d
o YIS H
o BAfHN 3 qorat #

(i) FE GHqe AaTh H UE T AT FahlGpideEE  SEEaIe $
Seoifgd hifsu |

(iii) HEfl gHAA AaTh & e i foa=mr Hif |

(1)  Give the clinical findings of lichen planus at the following sites :
e Nails
e Scalp
e Mucosa

e Palms and Soles
(i) State the histopathological findings of oral lichen planus.

(iii) Discuss the management of oral lichen planus. 5+5+5=15

Thd Tifhw i 2qh, figm, ST=m qun sfieerareti &1 98w & ==t Hifse |

Discuss in short the etiology, diagnosis, treatment and complications of
cirrhosis of liver. 5+5+5+5=20

Th A1 394 15 W18 % S I AR AW 2 | 39 9= I 6 IR IHT qGT 4 IR
SeA1d JTlEehT % T & g 8, 98 Fvese @ ol 3w foufy § 98 2 fF 2w
Teh | 39 FUET H G4 = o1 oo 10 kg o7 |

(i) T ® s fora disiar 1 ], I8 SThelT o719 $E iy 2
(ii) JoH o el § T (WES) Taud & e a1 e 2, fafu |

(il) Ife ST 3 el & w1g oft Fasiefientor % @&or q@iar 2, O ST ITER
e /= &, fafan |

(iv) S&¢g.U9.31. @ GASAhiol oavl (371,370,049, ) 1 1 qo1 38 g
w0 it fafr & sm § fafgg
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A 15-month-old child brought by the mother with history of 6 episodes of
vomiting and 4 episodes of watery diarrhoea was found to have lethargy
and is unable to drink. The child weighed 10 kg before this event of
illness.

(i)

(ii)

(iii)

(iv)

e -1

(i1)
(1)

(ii)

HXS-B-MDCS

How would you assess the severity of the illness in this child ?
Write the fluid management in the first 3 hours.

Write the treatment guidelines after 3 hours if the child still
exhibits signs of dehydration.

Write the composition and preparation of the WHO Oral
Rehydration Salts (ORS). 4+4+4+8=20

aifenfie afeiy @ falies frem #0 § 2 o woars @ wifenfiE
af-ersny i =™ 39 HT w2

Tifenfae afme & yeea i ==t HN |

What is the differential diagnosis of psoriatic arthritis ? How would
you distinguish psoriatic arthritis from other conditions ?

Discuss the management of psoriatic arthritis. 5+5=10



wvs B
SECTION B

Q5. (a) uWH fyderfeht gdt & UM & Tafrcadm e, Jefie stogheor qo
Sagd % fov & g&y # 9o Hifs |
Briefly describe the clinical features, diagnostic workup and
management of a patient of choledochal cyst. 3+4+3=10

(b) 3 qIfe wE BT B WA % ovar wh 60-anffa wfgen Hgeredt # wgaeh
2 | 35 TFE- for iferd SIfeds o1 Ghas 2 |
(i) ehiferd rfeer hi Wrenerfores fafdmedrsti % v § Gaw & fafaw |
(ii) 38 AT ¥ BH aTeht g Afeerareit =i fimmy |
A 60-year-old lady presents to the casualty after a fall on her right
outstretched hand. X-ray image is suggestive of Colles’ fracture.
(i) Briefly write the clinical features of this condition.
(i) Enumerate five complications of this fracture. 5+5=10

© () ‘M 3fg e’ (e oy ffgsem) #i afonfya Hifve |
() ‘M gfg e’ & g SRt w5 fimme |
(iii) 26 HTE bl THiewAT H qgAW § oMy nfw M gfy feud § wEem
A1 1 B, I TG T HIC | 3@ afeen % 3R 9 @
Sfifera & 781 8 a1 favra o 9 32 gearg & mutaren § diefes dese
TSR Tl 2 | :
(i) Define Foetal Growth Restriction (FGR).

(i1) List the common causes of FGR.

(i) Outline the strategy for managing a severely growth restricted
pregnancy diagnosed at 26 weeks of gestation. This female has no
living issues and has a past history of undergoing Caesarean
Section at 32 weeks of pregnancy. 2+44+4=10

d () gk sl ufenfya Hifa )
(i) 37 fufrcashia wohdi # fimmsy 578 gl wfaess fafeen (sfa
e Sidt) wfese < st @ |
(iii)‘m&ﬁmﬁnﬁﬁ@aﬁz@ﬁ’w%ﬁﬁmﬁaﬁ%mwgm
39 fowa W &y 4 ferfigu |

(i) Define menopause.

(i) List the medical indications for prescribing Hormone Replacement

Therapy (HRT).
(iii) State briefly the controversies that have demerited the concept of
‘Universal HRT". 2+4+4=10
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(@) 7 IW % AU TH S SRS GHEN §F T R | et $© aul | I8
et Y G 3R A R i st fard R
= ey § TEd g Fefofaa st % 3 i
@) ¥ A ygE FRF § FoFh w0 gw # S H it @ § we
oA SRR ?
(ii) TeraTy TiEdd 3 S I HE wed fomm @ 2
Dengue has become a major health problem for the country. The number
of cases and disease severity have worsened over the years.
Keeping this in context, answer the following questions :

(i) What are the reasons which have led to a major shift in the
geographic extent of dengue in the country ?

(ii) How is climatic change impacting the disease ? 5+5=10

Q6. () () 3 HAUN F ar § waw A fofge fme Fror v o fowa # wisifer

Yoy B 1 T H g AE R |

Gi) Y 2R (FmET) SEE qun NTeR G9E & A iR g hi wae |
fergmrm ShifsT |

Gii) S SF o Ten % AT F1-R UM AGER § W A Fhd § ?

(v) T wieen e od § Hofer du gen ®, ¥ A g vEa & fo
39 FHEEter (wEet) < ?

(i) Write in brief the reasons for rising Caesarean Section rates
globally and in India.

(ii) Discuss briefly the advantages and disadvantages of Vaginal birth
and Caesarean Section.

(iii) What measures can be adopted to reduce Caesarean Section rates 4
(iv) How will you counsel a patient who had previous Caesarean
Section for vaginal delivery ? 5+5+5+5=20

(b) UH 55-adia gey R darg TR < od #, o U A1 & HE ge | BT
S B F FEO ARG, F o | S HH W IWH T F T
(gﬁ)m%aww&aﬁﬁg@a@wm@@amq&iﬁ%l
(i) vASIohaT (CYFIIRaT) iR SEeh e &1 Ha H vl HIfT |
(i) T@ TET % HE hl 7H-gEH FUEIE HH-HH H 7 ?
(iii)g@ﬂﬂ%%m%@ﬁﬁaﬁ?-ﬁ?@ﬁﬁamaﬁmﬂém@

Thd 8 ?
A 55-year-old male, tobacco chewer, presents to OPD with difficulty in

opening mouth for one month. On examination, he is found to be having
poor oral hygiene and a white patch on right buccal mucosa.

(i) Briefly describe leukoplakia and its significance.
(ii) What are the premalignant conditions for oral cavity cancer ?
(iii) What are the different cervical lymph nodes which can get involved
in a patient with oral cavity cancer ? 5+5+5=15
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Q7.

(c)

(a)

(b)

(i) 9 w1 W w9 & qof” 5 Py wm@T R 0

(i) IHTER SEH R oy T A 3w F gern HIRT qen 7w T Hif
o wmepTErt e fohe wehr Wy T & et o e 2

(iii) YR ¥ W form-fore &t % foru srawas & 2
(i) When is a protein said to be “biologically complete” ?

(i) How do vegetable proteins compare and compete with animal
proteins ?

(iii) What are proteins needed for in the body ? 5+5+5=15

U 60t 7oy forrd 3 A & fiaw 9 © Afwn % w0 e 2 1 g
TS WA T H R IR W Hg A WA R | oY Y W 35 R
afteaefia 8 37l amenm § |

(i) | Wit <61 Sr=-wdemwr sy FF w2

(ii) reitel e 7 @ 3 SEh Fnwn e § TyY ° 3@ i |

(iii) 38 Tt ht Faferean & - fasey § 2

A 60-year-old male presents with progressively increasing jaundice for

2 months. He is having clay coloured stools and pruritus. On
examination, he is having a palpable and distended gall bladder.

(i)  How will you investigate this patient ?
(ii) Briefly mention Courvoisier’s law and its exceptions.

(i) What are the treatment options for this patient ? 5+7+8=20

HE TS T3S 2fehm Rieen (MCTS) Sehm grar 1 118 ueh eyl weet 2 |
(i) H&9 ¥ gHMEY 6 MCTS #1 2 |

(i) 3 ALY FA1-HIT & ?

(it) 38 form TR sraffaa frem ST & 9

The Mother and Child Tracking System (MCTS) is a significant
initiative of the government.

(i) Briefly explain what is MCTS.

(i) What are its objectives ?

(iii) How is it being put into operation ? 5+5+5=15
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(c) (1)

(i1)

(iii)

(1)

(ii)

(iii)

Q8. (a) @

(ii)

(1)
(i)

() - 10)

(i1)

(ii1)

(i)

(ii)

(iii)

HXS-B-MDCS

U ardl T gedt 1 oy 35 9 7, o ufg it oty 37 9 B, IR S
&7 ad @ fyarfga &, fama 6 ag @ miuRer FE H WE R B E | ™
Tt <t SIfE 31T HH BT ?

U8 S-S5 ¥ J6F 9¢h 8 Sl IoH-9Ifh T I9TE S & ? |
AT SAHGEAT & IYUR B Uy fosheul 1 TH@T T
HINT |

How will you investigate a couple; wife 35 years, husband 37 years,
married for 3 years, but trying for conception since 6 months ?

What are the major factors affecting fertility ?

Outline the treatment options available for unexplained
infertility. 5+5+5=15

STESH 3Teqdl ¥ B4 ardt foehil o TaeRgH o1 AT &qd it |
SAEH 3evar fasr s srisn (mdh SfhiiRe femsidt sea
TUM) % SHF (M), d& (AsAfdead) o geF foRivaret fi gaq §
=t HIf |

Summarise the spectrum of Iodine Deficiency Disorders.

State the goal, objectives and salient features of Iodine Deficiency
Disorder Control Programme. 10+10=20

A (FeNe) sfufRm, 2021 F FdTd RN TG IREE @ T
87

IR H AN SH-H 8 TS 30T HagR § o & 2 3% 39T %
STYR T 3% 38 O FFTET 31 37 Y=o & 3ifehe §arsy |

FH-HH A U YR § TR % Y=o @ "o oF § 3yanh fag
& Thd & ?

What are the major changes that have been introduced under the
MTP (Amendment) Act, 2021 ?

What are the different contraceptive methods employed by people
in India ? List them in the order of their usage stating the statistics
of how commonly they are used.

What measures can help increase the use of contraceptives in
India ? 6+5+4=15



(c)  37ag U % 3feToT W | Uehet Ufdehl BN % HRU Th 47-a979 Higell TR
(Tsidl) . d €. T 3 Iy=R & forw ot B |
() 39 Wi A Ja 39 F K 2
(i) I ST T T gehrr 21eg &9 & Hohd fired, a1 waeT I9Yw ITER @
2
(i) T Wi fywer 5 o7 @ sm@g 0fy & Weh wfdEm & fou gt
INAL-ITIE TohaT TRIT AT, IEHHT BIGAI-3TT 3719 Hd T 2

A 47-year-old female presents to the surgery OPD with a solitary nodule
in the right lobe of thyroid gland.

(i) How will you investigate this case ?

(ii)) What is the ideal treatment if investigations are suggestive of
follicular neoplasm ?

(iii) How will you follow-up a patient who has undergone total
thyroidectomy for papillary carcinoma thyroid 5 days back ? 5+5+5=15
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